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QUESTION 1

Match the ClusterXL modes with their configurations. Exhibit:

Mode Configuration
A Legacy mode High Availability 1. Every member of the cluster receives all
packets sent to the cluster IP address,
with the load distributed amaong
[ all cluster members.

B. New mode High Availability 2. All machines may be active, based on a
peak load algorithm. A failure of the active
machine causes a failover to a cluster
member bearing a lesser load.

C. Load Sharing Multicast mode 3. Provides a clustering mechanism through
the use of cloned interface configuration
details.

D. Load Sharing Unicast mode 4. QOne machine in the cluster receives all

traffic from a router, and redistributes the
packets to other machines in the cluster,
implermenting both Load Sharing and
redundancy.

5. Only one machine 1s active at any one
fime. A failure of the active machine
causes a failover to the next highest
priority machine in the cluster.

A. A-2,B-3,C-4,D-1
B. A-2, B-3, C-1, D-5
C.A-3,B-5,C-1,D-4
D. A-5,B-2, C-4, D-1

Correct Answer: C

QUESTION 2

What Shell is required in Gaia to use WinSCP?
A. UNIX

B. CPShell

C. CLISH

D. Bash

Correct Answer: D
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Reference: https://winscp.net/eng/docs/ui_login_scp

QUESTION 3

Which of the following is a CLI command for Security Gateway R80?
A. fw tab -u

B. fw shutdown

C. fw merge

D. fwm policy_print

Correct Answer: A

QUESTION 4

What utility would you use to configure route-based VPNs?
A. vpn shell

B. vpn tu

C. vpn sw_topology

D. vpn set_slim_server

Correct Answer: B

QUESTION 5

How can SmartView Web application be accessed?

A. https://
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